® 7-3x=2x+11

@ 2(x-1) < —(9 - 4x)

@ 40-x<108



A& 1 AL

o % A2 Bd & 59

rr
o
ru

@ 7r=e] dol7t x, A& 2] Aol7t y 1 HAHR <]
wole 10 Bt &k

© x°ll 4 5 He 5 2 vt

© x o 2He]l 3 & g = 9 otk

® o W] o7t x 9 AP ] Ee|e] dol7t 20 Hrt
A

ORQ) 20060 06 @® 06 0



ojn

1
=10

® 0.3x-
@ 2x-1=5[3

—(x+4) [-5]

® x+6

@ 6x—10 = 2x + 6 [4]

® 2(x+1)-3=-3x-6[-1]



LAY A O] S5 Foh= B ol (2)9] T4 o] &H
o] 422
3x—1
S =4 (1)
3x-1=8---(2)
3x=9
x=3

@D a=bolHa+c=>b+colth
@ 3a=5b°|H3a—-c=3b-colt}
® a=b°l¥ ac = be °|}.

@ azbol‘?ﬂgzg(c;t()) o]},

® a+c=b+colHa=>bot}



@ x-9=18+x

@ x*-3x

D 3x-2=x+7

-9

@ 4x-2=5-4x

® 5x-17=0



= 5 YA x+7=5-ax 7} LA

o

6.

?
olJ

@ a=2 @ a=-1

Da=1

® a+-2

@ a#-1



® 40



gupz) Gehd A Bete)

® (a+ b)em @ (2a+ b)em
® %cm @ abcm

® a%bcm



sholat,

?_

O
=

W, 52— a? 9] 2

ax+b=2x->5a

@ 9 ® 24 @ 48 ® 96

@D 6



10. x9J gol -3<x<3

il o—/l\‘oa]x EH, O] %'8]]7],7%7;1%?
O x-1=3(x+1) @ —2x+3(x+1)=4
@ Sx+d=2(x-1)

@ 3(%)6—1):3()“_1)
® 4x+2=4-2x



5

=a-—x9H7tx=-2d, a9

12



32 g4 9] ol & ot BHAolth @ HAgef o] 8H T
A-E 12H? (HF e>1)
2x+5 -
3 @
2x+5=—3:|
o
20=—8
R

® a=belAa+c=b+co|th
@ a=bolHa-c=b-colth

® a=b°|"H ac = bco|Tt.

Al
=1

9]



o

Z 9L WgY o ol gHE 5

lleS

@®© 5x-9=0-5x=9

@ 3x=9+2x>x=9

® -2x=—4x-20 - 2x = -20
@ 4x=8->x=2

® 3(x-2)=6—>3x=12



5(3—ax) —7x = 8x— b 7} x o Wt AAFA o] H7] gt 27

o o 1
o

Da=-3 @ a#-3 ® b=-15
@ a#-15 ® b#-3



— <t

— |

® 0

— | N



?

=
ol

@ -9

O 13



3x—a

o] S7h 257} Hl A4 a o] A4

@ 471 @ 574 ® 671



18.

x o &
at+b=

D1



19. o= F 87t 270 oldel A2?

® x-5=-x+5 @ 3x+1=4x+1
® 2(x-1)=-2+2x @ 8x-5=3x+2+hx

® Tx+2="T(x+2)



20. o= AA T T W x = -1 A A2

DO 2x=5x-1 @ x-1=2x-3
® 3x+4=1 @ 2(x-1)=x

® bx+4=6x-5



x=ay+b

&1 &1
[~ I~ |



FR2 o, x o Aleet A

SEEE

Oo]—o

@ 4 ® 5 @ 6 ®7

@ 3



+3 = ax—10°] x o et LA 4] 57| A%t a 9

@D a+2 @ a+3 ® a+-2

@ a+-3 ® a#0



a?

24. 3{-x+2(x+1)-4} =18-5x 9 H7tx=a ¥ trﬂ,a—§ o] g
s

O -2 @ -1 ® 0 @1 ® 2



0.2(x+3)=5=03x-0.5(2-3x) S Zo]}.

.

Ul






27. FFE gyl Botd xxy=(1-x)(1-y) &
(3x—1) x (a—2) °] x 9 Ftell TAFlo] 3
Fofeer,

5 L
=%

o, (x=2) % (2y-1) =
YD aty o G



_ _ b
5480+ 4b = 4a B WESE b ol ool 2- 2 ] grol x o]

=~

aa 94 p (L5 4 8) = xr1 9 abE ), p o] b Fotole
(Ha+b)

ESE



i 11 A

KX
=

o3, B oA 6

| b~

shelat.

g7



= x 9 g T

125 =-28(5x—12): 6x—18

429
176

421
176

425
176

423
176

421
176



14 4] o]

sfe] 71 1

of o

1

0.6x—-3=2x-—
X x- <

F 84 2x—a=3x-2,

shelat.

?‘

O
=

of %

1
a?

1o]t}. ojuf, o +






